Math 153 - Quiz 10 Name \4e5
November 15, 2012 Score ___

Show all work to receive full credit. Supply explanations when necessary.

1. (4 points) M&M plain candies have a mean weight of 0.8565 grams and a standard
deviation of 0.0518 grams.

(a) If one M&M plain candy is randomly selected, find the probability that it weighs
more than 0.8535 grams. .

P(x>0.8535) = normaled¥ (0.8535,9990, 00,8665, 0-25'\%)

= O, 2azo4 = v»ﬁé?.l%f,:m

(b) If 465 M&M plain candies are randomly selected, find the probability that their
mean weight is more than 0.8535 grams.
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2. (6 points) In a survey of 1002 people, 701 said they voted in the recent presidential =
election.

(a) Find a 99% confidence interval estimate for the proportlon of people who say they

voted.
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(b) Voting records show that 61% of voters actually did vote. Are the survey results
consistent with the actual voter turnout? Explain. ,
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(c) Given the survey results, estimate the sample size required to have a margin of
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